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تمارين 2-3
ل )س . 3( = ل )1( + ل )2( = 0.2 + 0.3 = 0.5 	 	)1

ل )س < 2( = ل )2( + ل )3( + ل )4( = 0.3 + 0.4 + 0.1 = 0.8 	 	
ل )س fi 2( = 1 - ل )2( = 1 - 0.3 = 0.7 	 	

ل )1 > س . 4( = ل )1( + ل )2( + ل )3( = 0.2 + 0.3 + 0.4 = 0.9 	 	
ل )س , 4( = 0 	 	

	‌‌�ج + ج + 0.12 + 2 ج - 0.08 + 0.35 + 0.18 + 3 ج + 0.01 = 1  	)2
7 ج + 0.58 = 1

0.58 - 1
7 ج = 

0.06 =
1( ل )ع > 1( = ج + ج + 0.12  	 	

= 2 ج + 0.12
0.12 + 0.12 =

0.24 =
2( ل )1 > ع > 3( = 2 ج - 0.08 + 0.35 		

= 2 ج + 0.27 
 0.27 + 0.12 =

0.39 =
	‌ل )فردي( = ج + 0.12 + 0.35 + 3 ج + 0.01  	

= 4 ج + 0.48 
0.48 + 0.24 =

 0.72 =

ل  
شام

ي ال
رون

لكت
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لم 

مع
  ال



الرياضيّات الأساسية للصف الثاني عشر - الفصل الدراسي الأول
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1أ - 20

20

1 = 1
20 +  1

أ + أ - 20
20 + 5

20 +  3
20 +  1

20 	 	

أ  + أ = 1
20 + 9

20

9 + أ + 20أ = 1
20

21أ + 9 = 20

11
20 = 9 - 20

21 أ = 

	‌ل )أولي( = ل )2( + ل )3( + ل )5(  	

1
أ + 20

20 + 5
20 =

11
21 
20  + 6

20 =

11
420  + 6

20 =

137
420  =

2
10 + أ = 1 يعطي أ = 21

21 + 37 	 	)4

 19
21 = 10

21 + 37 	 	

تمارين 3-3
	‌ت )س( = )0 × 0.1( + )1 × 0.12( + )2 × 0.36( + )3 × 0.42(  	)1

1.26 + 0.72 + 0.12 + 0 =
2.1 =

	‌ع2)س( = )20 × 0.1( + )21 × 0.12( + )22 × 0.36( + )23 × 0.42( - 22.1   	
4.41 - 3.78 + 1.44 + 0.12 + 0 =

0.93 =

ل  
شام

ي ال
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